Axles - Axle Mounting Brackets and Hardware

Axle Brackets And Hardware
For Chairs Without Hublocks
And Chairs Without
Heavy Duty Package

Axle Brackets And Hardware
For Chairs With Heavy Duty Package

Axle Brackets And Hardware
for Chairs With Hublocks

Note: Also For Chairs With Hublocks
and Heavy Duty Package

SCM_095A



Axles - Axle Mounting Brackets and Hardware

Quantity Per
Iltem
Number | Note | Part Number |Description Package | Assembly
1 A 1154002 Kit, Axle Brackets w/ Hardware, Non-Heavy Duty 1 1
(Pair)
2 Bracket, Axle, Black - Left 1 1
2 Bracket, Axle, Black - Right 1 1
3 Bracket, Axle Spacer, Black 1 2
4 Screw, Hex Head (5/16-24 x 2-3/4") 1 4
5 Washer (5/16 x 3/4 x 1/16") 1 4
6 Locknut (5/16-24) 1 4
7 B 1159505 Kit, Axle Brackets w/ Hardware, Heavy Duty (Pair) 1 1
8 Bracket, Axle, Black - Left 1 1
8 Bracket, Axle, Black - Right 1 1
9 Bracket, Axle Spacer, Black 1 2
10 Screw, Hex Head (5/16-24 x 2-3/4") 1 4
11 Washer (5/16 x 3/4 x 1/16") 1 4
12 Locknut (5/16-24) 1 4
13 C 1162955 Kit, Axle Brackets w/ Hardware, Hublock (Pair) 1 1
14 Bracket, Axle, Black - Left 1 1
14 Bracket, Axle, Black - Right 1 1
15 Bracket, Axle Spacer, Black 1 2
16 Screw, Hex Head (5/16-24 x 2-3/4") 1 4
17 Washer (5/16 x 3/4 x 1/16") 1 4
18 Locknut (5/16-24) 1 4
19 D.E 1162958 Kit, Axle, Permanent w/ Hardware (Pair) 1 1
20 Screw, Hex Head (1/2-20 x 5-1/4") 1 2
21 Washer, Lock (1/2") 1 2
22 Nut, Barrel (1/2-20) 1 2
23 1040361 Axle, Quick Release w/ Locknut (1/2" x 5") 1 2
NOTE: A -Includes items 2-6
B - Includes items 8-12
C - Includes items 14-18. Hardware also used for chairs that have Hublocks AND Heavy Duty Package
D - Includes items 20-22
E - Add Loctite 242 to Item 22 at assembly.




